FRI1EE AEEEELHSETEROBE

(B FH)
FRIOEE | FHI1EE SRTEE *ATEE
* 18 # 5 3 %
¥ B % ¥ B = AR EE 3R (%)
[EEFBEAELRE] 12,188 11,778 A 410 96.6%
EERPEHNEE 599 552 A 47 92.2%
EEMEE=FEE FEEABEER 3,636 3,258 A 378 89.6%
EAHZEES 6,221 6,234 13 100.2%
EiIIRRAREAEERS 564 566 2 100.4%
EANZERHARGHHEE 1,168 1,168 0 100.0%
[RREEEEEE] 169,375 169,929 554 100.3%
BEEHEEREER 169,375 169,929 554 100.3%
[EEFBRAEMRFHELEE] 51,661,564 52,521,384 859,820 101.7%
TR EERE 141,915 131,850 A 10,065 92.9%
ERREARAERADRE N REFETREHYE 275,700 222,586 A 53,114 80.7%
ERMEREEEEEERYE 43,222,287 43,265,138 42,851 100.1% Eggggﬁaﬂﬁ%%ﬁ%ﬁ%
WS (7,765,588 F ) &L,
1. A= Sv /U TOBRESKAB IO IH 10,062,722 10,161,555 98,833 101.0%
2. 7= Tv U TOERERAK IO I 1,538,541 1,540,805 2,264 100.1%
3. BEHMEREMRIENATOS I 519,167 969,395 450,228 186.7%
4. BEERERIOCOH 2,779,916 2,781,778 1,862 100.1%
5. EFRRRICAITIzY /LAEEER IO 1,657,328 900,315 A 757,013 54.3%
6. Sx/v - FroY—)Y—F-TATHH+ 8,464,317 8,578,021 113,704 101.3%
7. BMECCADBBERAEER IO/ 1,103,076 1,190,870 87,794 108.0%
8. HE BEELEHHIOS I+ 1,968,438 1,973,030 4,592 100.2%
9. #FERRIOCI Y 8,193,679 8,150,809 A 42,870 99.5%
E4AHBHEHRERNS 8,021,662 8,901,810 880,148 111.08|  EEMOIBIELAEFR AR
I TRBERHESE 1,205,028 1,088,263 A 116,765 90.3%
0. & EESERAESH 4,800,764 5,648,983 848,219 117.7%
I. BEXEEARESHENTF 2,015,870 2,164,564 148,694 107.4%
<BE>
EHEEREA D AERFRER R HEEREE 47022218| 47,400,805 378,587 100.8%| 5 PURBIRRE. BEUBE L5
EAFZBREFHREFBEERER 8,201,363 9,120,812 919,449 111.2%| R4 HBH R ERNEET
& B 51,843,127 52,703,091 859,964 101.7%




FR31EE HARVIRMSE(F) PEEOHME

(B /5haM)
FREI0EE|FEINFEE|] HAEE
=3 15 £ B | WEiEEL & e
¥ B P B E| HEAHNSE
HERTIR R &5t 11.875 11,565 A 310 97.4%
EEXELEMEERER 3,300 3,070 A 230 03.0%| X BHERERIFIEREL 101.3%
IR E M 3,300 3,070 A 230 93.0%
SHEERBR 3,032 2,830 A 203 93.3%
SHEEKERS 268 0 A 268 0.0% NIGEFERI IR AR E
5% r%ﬁb(’\ H K@f’b@{%ﬁ?ﬁ%*ﬁﬁ*}#]ﬁ _ 241 _ _ ’7'/L\‘f‘»ﬁ$*§1h’&ﬁﬁL‘T_Eﬁﬁl}‘ﬁnno) é’liﬁﬁ‘% 25
= i U zEs 2 EBHE
2 BEMMAEEHRE GAENRS) 216
E iR ERR 1,526 1,558 32 102.1% .’Trmoﬁr%zﬂﬁm%ﬁsﬁ XESOI-HBIEREL 1078%.
1
- I
RERTAE 1,483 1487 Y /
SHEERBR 1,483 1,463 A 20 98.7%
SHETH LB AN DB EEHER 15 — 24 — — BEMNHEERRE RERRS) 24
S0 o ik 2 43 71 28 163.8% R EORESILICHESITHEE 7
EtSFRE- AORRBEWERR 856 887 30 103.6%
IR EM 856 887 30 103.6%
SHEERBR 856 861 5 100.6%
= N Y 4 S S _ _ _|  ARBOTOEBAOBBMERLLDTF-BSLIS
SHETHLOB AN = DB SR 15 25 | oot 1 Tt = Eg;%ﬁ ”E,]EM 19
2 BEMREHRE ARNERS) 6
. _ (T o ommmmmmmmmmmmmmmmmmmmmm
El L R ER R 6,192 6,050 A 143 97.7%|1 FRIVFEH2EME T HRNE DI R FREL 1023%.
I = I
HERTIR EAth 5,902 5,869 A 33 99.4%| " J
SHEERER 5,902 5,613 A 289 95.1%
SHEIFHLOVBARDE=HDEEEEHER 1S — 256 — — MEHNMESHRE AR 256
MR B iEE 290 181 A 109 62.3% ERREOBRESILIHESEHERE 181
- . (B4 3haH)
FERIEE[FRINFEE] HAEE
=3 15 £ B | WEiEEL w &
¥ B T HF =E| BAFE
i 5o : . .
g%g"‘ﬁﬁ%"t‘kgﬁgﬁ BR-x% 3.675 4,045 370  110.1%
BEERX{TE
SHEERER 3,675 3,418 A 257 93.0%
SHEIFLWVBAD-ODEFEEHER D - 273 - - 1 ABEEERE 14
2 RARREFE S AHIRIEEZE 102
3 HVEREIZEGatewayFE X 80
4 FHEAIHEMET B A THEEDRR 76
MEER R E - 354 354 -
* FRI0EE2RBIEFEE
EEREREE 220

SRR 2 &Y

BETERIRD—BLLEWNGEEAH S,




